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1. ���,#
1.1 �+ ��������' <-R RRIM 600
1.2 D;� �p��$"/�
1.3 !-��&����� D&�����'0
1.4 �
+ D&�&�0������
��*����N�(����
1.5 !+�� &�0D��  ��N� .�����
1.6 �� .��
'  D&�D�&�
���
1.7 ����
��'0*��
���
1.8 
�� PVC ��&R� .����+�
�+����%'�
� ����������R
1.9 �&'��
��
1.10 �
+���(���� D&�(�
�0�'0(����

2. �#��
�$
2.1 �*�"/���'0���$'� �������P0���(� (Porometer �-�  AP4 ��� Delta-T, U.K.)
2.2 �*�"/���'0�'��R��� .��( (� (Pressure Chamber ��� PMS, U.S.A.)
2.3 �*�"/���'0D�� (HOBO-Light Intensity Loggor)
2.4 �*�"/���'0*��
$". ( 0�  (Soil moisture gauge �-�  4300, Troxler, U.S.A)
2.5 ��+�����
2.6 �*�"/��������N��'������0� 
2.7 �*�"/��$'/� 2 ���D% ��
2.8 �&+��!������
2.9 �-���2R�"/ ]
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3. ��"��	

���
0&�� �.��# ���
0&��( D�&��� �������
�/
�������P0���0D&+� (���- 14 �9) ���

�!� ����'��
��D&�B��)�*� �
 *2�
�'�����<��
$��� 
%���
��&'����&� *�� 
�R �.�
�� 
�.���&� ���/

0&���0"� �' ���  2548 
0&���'�����' <-R RRIM 600 ($+�����&���
���'  (3 x 7 
�
��) �&��( 0� ��� � 
��� 
�*��*��
��# ��0-0��� ���
�2 5.5 (1*������'0�'.�Bb�����'�D&�
������, 2543) 
�*��
$". $&���
�  (field capacity) 19.3 ����R�6N �R D&�*��
$". 
�/�-0�%�/���C�
!��� (permanent wilting point) 11.6 ����R�6N �R 10�
0&�����/���'�����'0������(%+ .��( $���O0�
D&+� (�-
)��' <R-�O�)�*
 2549) ��"/�*��*-
&'��2����;&'0(�����������

��"��,��� (Treatment)
���D; ���
0&��D���-�
�
���2R (Completely Randomized Design) ��� �  3 ��<�


0&�� (treatment) % ���
0&��
� 1 D!� D!�&� 12 �+  
�D!�*-
��%������<�
0&�� 
� 3 6.��        
��<�
0&��
� 3 ��0'�������(%+ .��

T1 : Control �
�
����(%+ .��
T2 : (%+ .�� 100% ������
�2���($+ .������"$ (1.00 Crop evapotranspiration : 1.00 ETc)
T3 : (%+ .�� 50% ������
�2���($+ .������"$ (0.50 Crop evapotranspiration : 0.5 ETc)
10�
�������% 0���(%+ .��������
�2 .��( 0� $'. ������&S� 30 �6 ���
��  6S/���# 

�����2
�/
�������������%���%�� (RRIM, 1958 �+��10� �
��, 2541; Soong, 1976; &���� D&�
*2�, 2534) 
�/ 50 % ������
�2 .��
�/�"$ ����($+ 
���<����*�� �2D&��'. �� *�� �2 (0���� D&�
*2�, 2543)  0'� �.

�	
���7
	�9$�	��:�
� 10�($+1��D��
 Statistic Analysis System
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- 9	�
�1	��	
-8��0�	!���	��	
	 �������
ETc = Kc x ETp  �
"/� 
ETc = ���($+ .������"$
�/�+�����
��� (
�&&��
������' )
Kc   = �'
�����
<�����($+ .������������ (Allen et al., 1998)
ETp = ���
�2���($+ .������"$�+����� 6S/���# *���'������*�����%� (
�&&��
������' 
           ���!�0���%�)

���*�� �2     ETc = 1 x 6.1
                  = 6.1 

./�' 

... ���
�2 .��
�/�+��(%+����+ ����'  (&���) = ETc x πr2  �
"/�
r = �'�
�
���-�
 10��'0�'�
�
���-�
���
�����' ��� � ���' �� ,  �% "� � (�+ D&+�%�*��

�C&�/�����'�
�
���*�� �2     ���
�2 .��
�/�+��(%+����+ ����'  = 6.1 x 3.14 x 2.52

= 119.82 &���

- 9	!�,7�	1�	1	
:-��	
�#�1�0�	!��,��8�0��!

	�5���
�1	��0�	�����1-9���8-8� ,�
���
�2 .��( 0� $'. ������&S�
�/�"$��
��! ����($+�0+ =  .��( 0� 
�/�"$ ����($+�0+���

0� 
�/($+
0&�� x *��
&S����0� $'. ������
���*�� �2     ���
�2 .��( 0� $'. ������&S� 30 6
.
�/�"$��
��! ����($+�0+

         = 0.95 x 30
         = 28.5 

.

 .��
�/��
(%+($+�0+ (
�&&��
��) = ���
�2 .��( 0� $'. ������&S�
�/�"$��
��! ����($+�0+
x ����R�6N �R������
�2 .��
�/�"$ ����($+�0+

���*�� �2     !+���# �������(%+($+ .���0+ 50% = 28.5 x (50/100)
 = 14.25 

.

- 9	
����
!���	
-9��0�	 �������
������������(%+ .�� (�' ) =  .��
�/��
(%+($+�0+ / �'������($+ .��( D��&��' 

���*�� �2     ������������(%+ .�� = 14.25 / 6.1
                                                           = 2.34 (�,0&���#  2 �' )
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- 9	�
�1	��0�	-�5
2��
����
 �������
���
�2 .��( D��&������� (
�&&�&���) = ������������(%+ .�� x �'������($+ .��( D��&�

�' 
���*�� �2     ������(%+ .�� 2 �' *�'.�  �'������($+ .������������ 6.1 

./�' 

        ... (  1 ������ �������($+ .����  2 x 6.1 = 12.2 

.
���
�2 .��
�/�+��(%+��������� (&���) = πr2 x ���
�2 .��( D��&�������

���*�� �2     ���
�2 .��
�/�+��(%+��������� = 3.14 x 2.52 x 12.2
           = 239.64 &���

��"��	
-9��0�	
D�&�
0&������������ ($+
� ����������R� �0�'�
� 2 �
�� �����2(�+
���-�
��"/�(%+

�'�
�������(%+ .��*&-
�����2���
��
�/�-0

����F��/	��	�	G5
2����� ��"/��C&�/�%�"���
��# ����0"�  10�($+�+�
�&����!� ����������
�����
�-�- ��
��
������!� �
�/(�&+�*����'������2
0&�� *"�

- �-2%)�
������
- ���
�2 .��B 
- ������%���� .��

3.1 �
��1��7�	18�0�,��-�82���,���
($+�*�"/���'0*��
$". 0�  (Soil moisture gauge) �-�  4300 (Troxler, U.S.A) �'0*��
$". 

( 0�  (6�6�/0�  1 6�6�) ( ��&� 8.00-16.00  . 10����B,�
������6�
�/�P0�&��0+� 
�/B,�&�( 0� � �0
��+ ;�� �� �R�&�� 3  �.� 
�/��0'�*��
&S� 20, 40 D&� 60 �6 ���
�� �����2�S/��&���'�
�
���-�
���
�������10�(%+
��0+� 
�/1;&��+ 0� ������
�2 20 �6 ���
�� �
"/�
������'0($+%'��6 �6��R���
�*�"/���'0*��
$". %��� &���( 
��
�/B,�&���( 0� ��"/��'0��0'�*��
$". ( 0� 
�/��0'�*��
&S� 
20, 40 D&� 60 �6 ���
��  ��
�*�� �2 %�*���C&�/����
�2 .��
�/%����( $�����&� 8.00-16.00  . 
10� ��*��
�/�0+����*�"/��
���+���
���*��
�'
�' <R��%����*��
�/�0+����*�"/���'�*��*��
$". 0� 
���� 10�*��*��
$". 0� ����%��0+�������-�
��N��'������0� ( ��0'�*��
&S� 20, 40 D&� 60 
�6 ���
�� 
�$'/� .��% '��0��� '.  ������
�/�-2%)�
� 106 �����6&�6��� ��# ��&� 24 $'/�1
� 
D&+� ��
�$'/� .��% '�D%+� ��*��
�/�0+��%�����R�6N �R*��
$". 0� ����
���
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                                ����R�6N �R*��
$". 0�  =  .��% '�0� ��9�� �  .��% '�0� D%+�    × 100
                     .��% '�0� D%+�

 ��*������R�6N �R*��
$". 0� 
�/�0+����
��� D&�*��*��
$". 0� 
�/�0+����*�"/��
�%��
���*��

�'
�' <R��"/�%������&�/� D�&�*��
$". 0� D&�D�0����Z��"/��������
���( D��&���<�
0&��

3.2 GF��	�������	
+��,-�!���	��	
	-�82��H,I5���9����	��	
-9��0�	
���
�2 .��B �������'����(%+ .��
�/D�������' ( $���O0�D&+� 
��(%+&'��2����

;&'0(�( $���O0�D&+�D�������'  0'� '. &'��2����;&'0(����D��&���/�
0&�������# 
�/���+����N�
�+�
�&��"/�����
�  *"�

3.2.1  .��% '�(����D%+�
�/���� 10���N����*����N�(����� �0 2 x 2 �
�� ��� 50
�6 ���
�� 
�/&+�
���0+���������&�����        D&�)��( *����0+��D;� �&����� ��N� 10 �' /*�'.�
 ������
�/�-2%)�
� 70 oC  �  24 $'/�1
� D&+�$'/� .��% '�

3.2.2 *��
% �D � (����
���-�
�+ ������� 10�0'0D�&������� '�����R�6N �R
������(�� �". ��� 10����!���)���-�
(�
�/�-0�0����' ����+ ���
�/���% 0  D&+� ����C��� 
��
�/
���+ ����� (Grid line) ��� �  100 $���  '���� � $���
�/
�(� 10�
���2�R���(%+*�D   
(��$��, 2536) 0'������ �.

$���
�/
�� ".�(���N
 (%+*�D  1
$���
�/
�� ".�(�
������*�S/����$��� (%+*�D  1
$���
�/
�� ".�(� +������*�S/����$��� (%+*�D  0
$���
�/�
�
�� ".�(� (%+*�D  0

3.3 GF��	�	

�������	��
�
����	!���	��	
	-�82��H,I5���9����	��	
-9��0�	
�'0������� ��
��������
��
�/���0�S. ( D��&���<����
0&��������(%+ .�� *"� �'0

�'��R .��( (���� 10�($+�*�"/�� 10�($+�*�"/�� Pressure chamber (PMS, U.S.A.) D&��'0*�����$'� ��
���(� 10�($+�*�"/�� Porometer �-�  AP4 (Delta-T, U.K.) 10��-�
�+ �������
�/($+��# �'�D
 ( 
����S������D�&�
0&��
'.� 3 6.��] &� 1 �+  (�
�/($+��# �'�D
 ( ����'0($+(����&�0 (young
fully expanding leaves)

3.3.1 *���'��R .��( (���� ($+�*�"/���'0*���'��R .��( (���� �&"��(�
�/D������!S� 10�
��
(���� 3 (�( �+� (��0����'   ����+��*�"/���'0*��
0'  [Pressure chamber (PMS, U.S.A.)] (%+
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�+� (�1;&������2��&�����
�/�-0B��P0
��*��
0'  ($+D��0' ���D���� 1����  �'���� .��
�/!��0' 
���
�
���+� (�D&��' 
S��+�
�& 10�
������'0�+�
�&( ����' 
-� 2 $'/�1
� �'.�D����&� 8:00-
16:00  .

3.3.2 *�����$'� �����(� ($+�*�"/���'0*�����$'� �����(� [Porometer �-�  AP4 (Delta-
T, UK)] ��� 
������'0�+����'�*��
����� ����*�"/��
"��'�D;� ��'�*��
�����  (%+*��
*��
*&�0�*&"/� �
����  10 ����R�6N �R �&"��(�
�/D������!S� 10�
������'0�+�
�&( ����' 
-� 2
$'/�1
� �'.�D����&� 8:00-16:00  .

3.4 �
��1��+�!���	
-9��0�	
2�+�+��
�0�	�	�-�82��H,I5���
3.4.1  .������0  10���N��+�
�&�����

-�*�'.�%&'����010�($+�������0*�S/�&���+ �' 

��+ �'  (1/2S.d/2) ��
��<�������1$*$'� D&�*2� (2524) D&� �
���R D&� ���2����R (2534) ��"/�
 ����%�����R�6N �R� ".����D%+� (DRC)

3.4.2 ����R�6N �R� ".����D%+� (DRC)  ���*����# ����R�6N �R� ".����D%+�(  .������0

-�*�'.�%&'����0 10� �� .�����
�/���0�0+ 10-15 
�&&�&��� ��������� ".�����0 (m1) ;�
 .���&'/  10

�&&�&��� D&���0 .���+
 (2 ����R�6N �R) 15 
�&&�&��� ( �� �D� �&� * ���;�
(%+��+��'  D&+�
;S/����;�
(%+D%+�  �
"/�D%+�D&+� ����+���+�� ��� ".�����0
�/�-2%)�
� 70 oC  �  24 $'/�1
� D&+��S�
 ����$'/��������� .��% '����D%+� (m2) *�� �2%�*������R�6N �R� ".����D%+� (DRC) 10�($+�����

���

        DRC (%)  =   (m2 x 100 )
                              m1


